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1 ;a} :yfgLo txdf ;d'bfodf cfwfl/t k'g :yfkgf sfo{qmd - l;= lj= 

cf/ lgb]{l;sf cg';f/+ ;~rfng 

66 66

2 Ho]i7 gful/s ;DaGwL ;/f]sf/ afnfljr cGt/lqmof 35 35

3
Ho]i7 gful/s ;DaGwL lbjzLo sfo{qmd - cNhfO{d;{ r]tgf lbjz, Ho]i7 

gful/s lar x''g[ b'Jo{axf/ lj?4sf] lbaz ++_   

29 29

4 /fli6«o afn lba; 20 20

5 ljljw 33 33

6 /f= k= cgF+ l2tLo tna 381 381

7 :yfgLo eQf /f= k= cgF+ l2tLo tna 10 10

8 dx+uL eQf 12 12

9 n}lus lx+;f lgaf/0fsf nflu Goflos ;ldltsf] Ifdtf ljsf; sfo{{qmd 50 50

10 g]t[Tj  tyf ;{:yfut ljsf; tflnd 52 52

11 ;d'x u7g / kl/rfng, ;ldlt Joj:yfkg 5 5

12 blnt dlxnf nlIft sfo{s|d 1000 1000

13 cGt/fli6«o dlxnf lbj; 20 20

14 h]i7 gful/s ;Ddfg 500 500

15 ckf+u ;DaGwL sfo{s|d 500 500

16 ;d'x ;b\\Zosf] cg'lzIf0f 31 31

17 b}lgs e|d0f eQf 100 100
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